M2 13+ OIH} A 1
Hid= UL 5 0l OHE
(2013 630%M ZF] S|-oT = V= 3k 0 o a o
s seaz |17 ] 209008 5008 F#ad e EP A= [uzuage
(38.0008 21 | 27 708082 2008 | =23 | X2= Zallz | (2eEzE4s) 1201108
1300m 3% 532082 120 W= (=5) | 1228 | 1192 (530, 7%) —
% 49 20808 & 405 NE(2a+9la) | 1208 | 1:19.1 (54.0,12%) E 2 A
G sS28r gy 152088 208 N2 (2400 | 1230 | 1192 (530, 7%) 13A1002
1 xF A ]II_ EI o ﬁgl, (E) 55.0( +1.0) 130602 =6 1200 4R 0+2+6% 1?0504 =61200 2R OF2410% 1730315 261200 6R DI 2415% . 1730223 =6 1400 5R 0+2+6%

o T Tow @ 1BAIE 1164 540 AIY(1) |DIOMZAE 1:175 550 H2(2) [D 80IZI2 Y 1:47.2 540 A& (1) |D122X 1:31.4 540 314(2)
3MI(100225) B2 H 2z A £8H825(68%) /1E:312 @52 2%01 1172 560 H2(2) |@ 32AE 1177 540 A2(3) [@ 1HOIZ2 11478 540 HY(8) |@14ZEI} 1318 540 ==(4)
(S)HUT(S)2HETHA SO 0F( 0/0/0) @ 2MOI0IA  1:17.9 540 0H2(4) |@ 522E01 1:17.9 560 HI(6) |@ 4RWMAEX 1:179 570 AIFH(10)|® 6HFZE 1323 540 ZS(1)
S AF9T(1/0/0/2/3) /24 546 % 2 S E(18E @ 380 1184 530 £5(3) |@ 1HATEl 1:18.0 540 QIR(1) |@ BHZ AR 1:18.4 530 HE(3) |@ 8BAME 1:32.4 540 OFHI(6)
TESFES 470114 4703 OFFESS I MATLAF= 5 625 E 1:18.8 540 O|R(6) |® 42tIICIOF 1:18.7 540 S2(5) |® 2 +IEl 1:18.2 540 &Al(2) |® 7LI0IASR  1:32.6 560 =L (5)
=N g /521 22863 NF(A5H) ® 4X%= At 1:196 550 J13l(8) [®12AI324 1:18.8 520 &2l(7) |® SHOIMA  1:18.4 540 HH(11)|® 2R HXE  1:32.7 510 0l(3)
WHEE:B®TAN2S®510D514 29 23| 447 @ 7234 12200 540 &8(7) @ 62 AH 1:19.0 560 OI2(8) |@ 5& & AICH  1:18.5 520 0I2K6) |@ DI AICHDI  1:33.1 540 21AH(11)
LUItA: 50000 & (N E) 130702% = X IH&H53) 140—-384—-131/3C250—-4C447 |(141-404—144/3C254—-4C440 [143-396—-138/3C258—-4C451 |144—-395—-135/3C393—-4C597
CIEFEESEIE = 130626 X £ K| 25583l 1001 11(18)481-4519124 = 4004 43(412)485-11=106115=| 8 00 7 7 4(512)496-7=282122= | 8 0 0 6 6 3(4/14) 503+56=184 100=
HEACI B AN S 1304242 S| H I 23| =223 |=2®) F2® F26) F20®
2 ]H n_l! E E_I (= | ,mlé;l % 54'0( +1.0) 1730630 =413007R & VB4% 130602 251400 1R OF47% 130505 =5 1400 6R OtS47% 130406 =51400 1R OtHI10%

- — D7SASH 1230 555 S2(1) |D4THAE 1304 510 32I(1) | 1ZH220 1309 560 S2(1) | 80I= 1M 1:30.7 550 M (1)
5K1(08.03.28) Bt= o HtAH S4H665(44%) /114:05 @ 422128 1234 535 AS(5) |@ 5ECIHZ 1:317 540 & 2((5) |@ 7SS 1314 560 HE(5) |@ 52HERCIES 1:315 510 §2/(2)
(P)HEEHI M) EHA ol &0t 2&( 0/0/0) (3 5IOI0I0I2H 12239 555 S2(2) |® 1LIOIAE  1:31.8 560 =L(4) |@10ALEZ 1:31.7 540 2IAQ3) [® 168F33 1:31.6 520 OtLK3)
SAH29F(1/0/2/4/5) 1447518 Y | 2= S (198) @ 9MAIH 1240 555 OFHI(3) |@ 6IICIZE  1:32.0 540 Q1A(2) (@ 32FOIA  1:322 540 H2(7) |@ TSRS 1321 560 A2(7)
2ESES 660/1E: 208 DA B8/ MATEOY |®62RUE 1245 500 BHE(7) [® 2Z2101% 1:32.2 570 25(3) |® 92UAIF 1322 560 25(2) |® 4si6IXI  1:32.1 540 2E(8)
EM4F /S22 2FEH 431 1285(2) ® 1H=9Y 1250 565 S2(6) |@ 8HHIJIE 1:32.7 560 H&H6) [MI1&5/HIZ 1:33.0 550 H0I(8) |® 2KIOINIA  1:32.4 540 S2(4)
WHEE:B9I/AN2S®5M13@512 2= 03 0H#A SHEERZ 1:27.2 530 &=(8) THHERZ 1:33.6 550 J|3|(8) SIHEIER| 1:33.7 550 &=(9) BIHEIER| 1:34.0 550 EHZ(5)
U2 29,000 A (L) 130604 X & H 2 2 0HAR23S| 147—-416—-147/3C325-4C524 (141—-424—-151/3C378—-4C580 |147—-415—-145/3C392—-4C588 |144—-426—153/3C384—4C582
o & A el & 10:1:22.7(120721,55.0,13%) | 130602 2 Dt aH1 3| 900999(90)477+0=1131972 400238(88)477-65115214= 1100111110(911)483-8=83236:=| 6 0 0 6 7 8(8/8) 491+2523194=
of &t el E 1240 7&(0/0/1) 13052200 42 M A =313l =26 =26 F2@ F20®
3 EI HI O'I Ell A|_1 0|$ (E) 54'0( +1.0) 130629 =6 1000 3R OF&+4% 130531 3R =24 A1 AL1000 £{14% 1303?32610004R %H:”E—fﬂ“/ni 130308 1R -’Fj'_’o"é“\HUOU 245% )

@ 62IHI0E  1:02.9 530 OIF (M) | DITZASAILE 1.042 540 OIF | 2&i=AtMd  1:.042 530 =H(5) (D 6¥%=20t 1:.053 530 H&

3AI(100304) Bt o By SAR131B(102% 1E:255  |@ 1482 E  1:03.1 530 2A(5) |@ 90tet 1048 530 S& [@100121%8  1:043 530 BE(9) |@102432+ 1057 540 =
(R)2HIo(D)US oI ERdeE |0k 18(1/0/0) @122 E 1033 530 S2(6) |@102 246121 1:052 560+2E4% @ 5012H201 1:04.5 530 A& (7) |@ 32/HI01]  1:06.0 530 &A
S AF:2%(1/0/0/0/0) /16,500 & & 2S:4 014 (338) @DISKSA 1:03.3 540 =L(1) |@ 40t 52l 1:05.7 530+1 QA |@OISL=H 1:.04.6 530 S=2(4) [@ 1ALIEH 1074 53041 =4
ZEFE S 400/14: 4008 OFFEox AR [MAXLEXRE R (G 7IHEIOF 1:036 490 5(3) |® IYHEI 1:05.9 520+28 < |G 60t=¢et 1:04.8 530 JIS(2) |® 731 &% 1:090 530 A=
EN 4F 152919 2273 M7TE(&,017) ®108F 7] 1:03.8 530 EiZ(2) |® 6HIA 1:06.3 530 =& |® IHHEL 1:.051 530 =%(6) |® 4HICtSe2l  1:09.1 530 &
i FSESH 293 23| 68 @ 22l X 1:.04.4 530 =& (4) @ 82IHIfE 1:06.8 530 = [@ 42IHIHE 1:07.2 53.0 oldd) | @ 2B82/dAE  1:099 520 Ol
UL XEOFAE AR E) 130526 4HS13] 142-374-127/3C142—-4C 321 151-395—-136/3C151—4C341 |147-402—-138/3C147—-4C336 [145-397—-138/3C145-4C328
=P ESIEIEr = 13052200 4 2 M A = 5135 600676(112)471+15=89741215 6 0 0 6 8 7(7/11) 456KG 80081111(11/11)456-19=194377) 4 0 0 4 4 3(319) 475KG
HEAHCI B NANGS 130510 =S =2 F JHA83| F20) F2@ FH(s=0)

[T (=1} =1 . 130608 =51300 7R O}S+4% 130518 =51400 6R DF44% 130420 =4 1400 2R OtHI6% 130330 =51300 8R 0}S+4%

T AI_I = II_-I @quEH-"_- (El.) 530( 30) »72E2 1:23.2 540 B 2(1) | B6IMEI] 1:30.5 540 HIZE(4) |[D12DHAHZE 1:29.9 540 EEH(2) | 4AHA2 1:24.2 560 =E(2)
441(09.0425) 8t=3 H LA Sth1534% /14915 @ 23t01E 1:23.9 540 SZ(6) |@11LLieH 1:31.3 540 =4(10)|@ 524 1:30.2 540 &&l(5) |@ 8x3| 1:24.3 530 &HS(1)
(2)A S TED)E 4+ S0k 0 ( 0/0/0) @ 501019F 1240 540 =(5) |® 52X 1314 540 012(2) |® 3ZOIGM  1:30.2 540 5H=(1) [® 9RIE31 1244 540 S (5)
SAHAQE(0/M/2/1/1)19,165F Y | 2B MA(39E) @ 4ZEUI0F 1:24.1 550 OI24(7) |@ QAIEISA 1314 540 A8(5) [@ 72472 1304 540 2H4) |@ 5=22/%1 1247 550 S2(3)
ZEFE S 400/14: 4008 O EZEZL /MUTEMFESAG 8HH AR 1243 510 22/(2) |® 10212 1316 510 22I(3) [® 8% &1 1:306 560 S2H7) |® 20| AL AL 1:24.7 560 =5(4)
EN T IE52E=19 2273 M82(EE) @ 90tot 1246 530 |E(3) @ 70t6H 1:32.1 530 ¥=(7) |®10&22AH 0l 1:30.6 560 O 2(11)|® 7E2HHZ  1:24.9 540 A=(9)
WHEH:B10N2FO®TN4D512 22 03 0HHA 1242 1:24.6 560 A2(8) [@ 3=SAMY 1:32.7 560 A2(13)|@ G248 1:32.6 540 HR(10) D102 AL 1250 56.0 HT(8)
LIt 250008 AN ) 13071721 I 23| =13 |140-403—-141/3C317-4C509 |[145-408—144/3C389—-4C585 |148—-400—144/3C396—-4C589 [142-403—-141/3C321—-4C513
ol & 01 el £ 10:1:22.3(121208,55.0,19%) [ 130710 & 2 S &63| 500778(80)428-10=124 1132 90010 9 8(11/14) 438-2=206.1 1184 11 0 01212 11(11/12) 440+5=17610] 9 0 01010 9(7/12) 435-6=4.3112&
ol E1el B :1240 5&8(0/0/2) 13040122 24335 FZ2®) F26) F2@ F2®)

5 H HI jl‘ C @OI jol.A_l (E") 560( _1.0) 173077077375 1400 1R 0F5+10% . 1?0602 =514001R 0}247% B 1730302725 1400 1R Ot349% 1/30202 =513001R Ot&+E

— @ IHIGHS 1305 540 01&#(2) | 4BLUAE 1304 510 Z2I(1) [ 5SHADH 1305 570 QAA(7) |D 43201 1:22.7 560 OHHiI(5)
4H1(09.04.08) Bt= H 2 Shh355(55%) 11E:125 @ 4=3AFH 1308 500 StE(7) |@ 5E2IHZ  1:31.7 540 &42(5) |@ 20iH S0l 1:31.3 560 =& (1) [@ 20420 1:22.9 530 OtLK(6)
(P OSSO0 ZHE(L)Y 2 CIIH = E ol &0t 0&( 0/0/0) @ 6= 1:31.2 570 =&(5) (@ 1LIOIAE  1:318 560 =Z(4) |@ 8OME=I| 1:31.4 540 LT (10)| @12 & HI 4 1:23.0 540 EHS(2)
SA16E(1/1/1/0/3) 137829 & 2=SEE (48 @ 8ItCIZ=8  1:31.2 550 Q12 (1) |@ 6ItCIZ2 1:32.0 540 212(2) (@ 1TH&A 1:31.5 530 OfLH9) |@ 10t ELH 1:23.3 560 &H=(3)
TEFEL: 730/14: 1208 OF =2 5F | M A TEE & A ®28F2F 1320 510 &5(6) |® 2Z2t01%  1:32.2 570 BS(3) |® MOIF2l 1:31.7 540 OtHli(4) |@ 9= &Y 1:23.9 560 &H(8)
2/ 3% /522939 2EER 78 11E(RY ® 7592101 1:32.2 550 £2(3) |@ BCIHIJIE  1:32.7 560 Z2K6) (@ 6= AL 1327 560 H2(6) |@ 8015t 1:24.8 530 2 & (10)
WHEH:B5AN2F®3M3DTN1 =2 03 0HHA @ 3HHIJIE  1:32.6 57.0 2&H4) |® 7THHERZ 1:33.6 550 J|3I(8) [@ 7EHHIJIE  1:33.2 56.0 2&H8) |@10HBIJIE 1:26.3 560 FEKT)
It 350008 A(INE) 130710 & A & & A3 143-410-146/3C382—-4C583 |[140-417—-151/3C377—-4C578 [143-418—-151/3C382—-4C581 |142—-405-138/3C326—-4C525
ol & 12l =1 10:1:23.2(120727,53.04%) 1306052 =2 S33! 600587(78)454-3=5204 1902 2001 12(7/8)457-55115201& 300349(1112)462+3=369106:=| 12 0 01414 14(14/14) 459+3=68.7 88
oSt el B 1253 4&(0/0/0) 1303032 S43| FZ2®) F26) F2@ FZ26)

6 ul‘ Gi % Eﬂa (E) 54_0( +10) 130630 =51200 4R 2-0+244% 130608 =51300 7R DF244% 1730518 51400 6R DI 4% 130428 =51300 5R 0+2+8%
@652l 1:16.6 530 MIFE(1) | 722 1:232 540 A 2(1) [D 6HE=I| 1:305 540 AIH(4) | OFLE5| 1241 540 QI2(5)
3MI(100430) B+ o 2+ S4H2835(144%) /15:965 @ ACIZ%E  1:166 530 EAS(6) |@ 2I101E 1239 540 AX(6) |@TILLIA 1313 540 S5(10)| @ 6942 1244 550 S4(12)
(R)=2EL(D)Z ey BHSHOR: 18( 0/0/1) @ 70I5HR  1:46.7 530 21A(7) |® 501019F 1240 540 =Z(5) [@ 52X 1314 540 012(2) |® 2Z2HAIA 1245 550 M(1)
SAH12E(0/2/1/210) 22576 MY | A=SRTE(TH) @IUESE 1171 520 ZH@4) |@ 42 FUIOF 1241 550 0124(7) |@ OAIEIRA 1314 540 &'Si(5) |@ 40I5HR 1247 530 RE(13)
PESEA 5014 5208 OpZE0b8| &/ MARLAAE  |® 22124 1172 500 EHE(8) |® 8ZHEHIAS 1243 510 521(2) |® 102101 1316 510 S2I(3) |® 32U 1247 520 2 A (4)
EM 4F52=914 2FE: 53 7HE(&AH) ® 8MIOIZ24 1:17.5 500 &t (12)| @ o0Ota+A 1:24.6 530 RE(3) |@ 705t 1:32.1 530 RE(7) |©1404MI2 & 1:224.8 530 0| R(3)
WHEE:G10JAN2FO®TN1D1314 =2 03 0HtA @5HCIER 1:176 530 24l(2) [® 1=RAIY 1:246 560 A2(8) |0) 3=F A 1:327 560 &F2(13)| @ 10k HIE 1249 520 & (10)
It 50,000 A (ML) 1305080HH| 4 24 A = 513 140-387-133/3C256—-4C444 |(143-408-145/3C313-4C502 [147-399—-140/3C392—-4C587 |144—-397—-138/3C325—-4C516
SHEtH el &1 10:1:246(130608,53.04%) |130122% =X 2K S13l 800876(3/12)480+5=20886= 800545(70)475-25124 582 12 0 01211 7(714)477+35206.159¢ 11 0 01211 9(4/14) 474-115510.7 69
oHE el E 21247 3&(0/0/0) 130121201014 I 23| =223 |F26) F2® F=2® EHO)
7 AI EI _?_ A OIAol.gll (E) 55_0( +1.0) 1}30513 251400 6R 0+2+4% 130414 =26 1300 5R D248% 130317 =6 1200 2R 0t2H12% 1?1223 261300 7R 0F216%

— @ 62UEI| 1305 540 MS(4) | AEIRA 1244 540 AE(1) [@ 12H0191H 11188 550 Z2(1) | D 6T HEI 1:24.0 530 H(2)
3MI(10.0221) Bt= &= 2M Sth1675(91%) 119:595 @112 LteH 1:313 540 SH(10)|@ 722 1:25.2 540 MIZ(3) @ SANEIRA 1:19.0 540 AB3) |@5685FES  1:255 530 all&l(4)
()2l L) HEZE off & 0F: 3% ( 1/1/0) ® 52X 1:31.4 540 012(2) |® 6X0I1=Z24 1:25.3 540 EHZ(6) |@102t2+CIOF 1:19.2 540 SH(7) [@® 2 IHAES  1:25.7 530 EHE(1)
SAHTHE(1/1/0/1/2) 128 380 & 2S5 E(35E) @ 9AIEIRA  1:31.4 540 A&(5) @ 85t+=2| 1253 540 H=E((5) |@ 58 1194 540 F(2) |@14234E  1:258 530 *=F(3)
2ESEA 62019 6208 OFZE0l 48/ MARAEE  |® 1012000 1316 510 S21(3) |® 1J18EX 1254 540 SA(2) B 28U2E  1:194 540 J|2(4) |® 4AEIRA 1259 530 H(8)
EH 0% /1222929 &R 73 139R(2AE) @705 1324 530 RE(7) |® SHABE 1255 530 S2(4) |@ 7TRUSA 1200 540 HE(9) [® BZUINT  1:263 540 S2(5)
WHER:BBAN2F®5M120DT7M12 2 83| 5857 ) =R ALY 1:32.7 560 A2(13)|@ S5AMER  1:26.4 540 Gll&(7) [@ 3AL=Hl  1:204 510 OFLK8) |@D12AIZ MOl 1:26.3 530 HbH(9)
QILA: 450008 (L) 13071027/ M Il 23| =33] [142 -40.1-138 / 3C 384 —4C 581 141-389—-131/3C321-4C523 |142-391-131/3C262—-4C467 [(140-414-141/3C316—-4C514
ol & 2l £ 10:1:24.4(130414,54.0,8%) | 130626 %S+ XHA53] 70076 5(414)508-620611172 | 10011 1(1/8)514+156.1 1422 300555(210)513+13=341532 | 700 6 6 6(5/12)500-5=20.2 1882
ol el E=:1:251 2&(1/0/0) 1305272 M X 25543 E6) F2@ F20@ F2O

Mg 133 [2018.07.27]




o]

Hi

5AI1(08.05.15) Bt= 2+ Z+4]

(R)nAL(2)E

HEZe2tol=

SAH:228(0/1/2/1/4) 126,896 & &

RES L

=J

MA:(5)

a =10

A
ot pA;

57N

i

sHeielzn

440/14:
M 5F/sZ=A19

2608

45®)512D)14114

20,0008 (OHE)
:1:241(121118,55.0,17%)

HEAHelES:1251 7H(0/0/0)

130623 =5 1400 5R O+248%

130505 =35 1400 6R DF47%

130406 =15 1300 6R 2 0tHI14%

130309 =51700 7R O+&{5%

9AlZ MOl =

3AI(100222) &=
L)QEAIEIZ

A28 (1/1/11210) 130,744 &
690/1:

TFISTZEA89

=) ADIRIE(

22X A
TR o T
PSR

HE =

HX:®3%IN
oA

== OHﬂ T

o

HetHe ®

oy

6908

25 ®©4120712

350008 A(OHE)
HE i 2l %l 10:1:249(130505,53.0,7%)
71255 48(1/0/0)

@01 B0 @ OHA B 1314 530 012(1) | IZHBY 1309 560 S2(1) | BAZL0f 1238 530 BB(2) (DIIAE0IS 1554 570 A=H(4)
S4H355(8.1%)/11E:145 @10EI2Y 1316 530 QIR (4) |@ 7LHS &St 1:314 560 BH(5) |@ 101AMES 1240 540 S(1) |@ 7AF23L 15555 530 JI=(7)
3 SOk 5F( 0/0/0) @ 6HSAZ 1317 530 NIZ(2) |@10AMEZ 1:31.7 540 Q1A(3) | @ OWOIIE  1:246 520 BR(7) |@ BZAIDI0I  1:56.2 570 ZEH(1)
2= W2(238) @ 520ITHE 1317 560 =5(3) |@ 3RFOGIKI 1:322 540 EL(7) |@ 382 1251 530 A&(3) |@ 8HERIS 1563 540 22(2)
DIFEALTMATHFIES  [® 30IAILA 1:324 560 EIZ(8) |® 92EISEIL 1322 560 25(2) [® 78t8IHIE 1252 550 PI(10)(® 48H3IHIRY  1:56.4 540 OI&(6)
2FEp:73l 862(01) ®8IIRE  1:327 560 AR(7) |@1SSIHIR 1:33.0 550 H0I(8) [® 2M2/0r2  1:252 520 OFLH4) [®123101E  1:565 540 &(9)
9 03] 0Bt ©® 4B3|HH2 1:33.4 540 012(10)| @ 5HBER| 1:337 550 A=(9) |@ 4REI%E 1255 530 MIH(5) |@ 1S&13F  1:56.5 560 A HH(10)
130717001 4 2 M A =15 [141-424-153 /3C382-4C576 |145-414—146/3C388-4C583 |144-395-138/3C327-4C523 [149-444-155/3C645-4C798
1307132 S I 018 T 232131 [ 2 0 0 4 5 5(8/10)433+0=179129% [ 1000 9 9 8(7/11)433-5283123= |10 0 0 9 9 7(5/10)438+8=55123=2 | 77 6 5 4 4(512) 430+121106 882
1307012291443 20 F20 20 =20
AIGIEL () 54.0(+1.0) |130609 51300 5R OF@t4% 130505 =26 1300 4R OF247% 130323 =5 1200 6R OF2H10% 130303 =6 1200 3R 01 88%
o= D32E@ 1233 540 NIY(1) | D BAIZEOl 1:24.9 530 SK5) | 45121H Q! 1:165 530 S2(2) | 4Lt 1:17.3 530 0134(9)
SAHGITS(108%) /15:282 |@ 4UBHS  1:236 540 D131(4) (@ 522 1250 540 H2(1) |@ 724 1168 540 Z2(5) |@ BAIZTIOI 1:18.0 530 ALH(2)
S S0k 1%( 0/0/0) @ IUHSHGH 1242 560 BZE(6) |@ 7RMUR 1253 540 Z2(6) |@ 1SoHI>  1:17.5 560 A1) |@11ASHIE 1:18.1 540 OHHiI(6)
As A2 E(21E @1SBH 1249 550 B2(5) |@ BAIR 1:254 540 RF(B) |@ 8FLHE  1:17.8 560 AE(8) [@ 220120 1:18.1 530 22I(1)
DIFEESAY/MATHE) SRG102 48 1:249 540 01R(7) |® 19ICIMEl 1257 530 H&(4) [® 544018 1179 540 2SH4) [® 9252 1181 540 E1Z(7)
2 =221:95 1902(2 2AIZRIOI 1:252 530 S2(3) |® 4HINEL 1264 540 EHE(3) [® 6SBH 1187 550 S4(6) [® 32M A 1:18.1 540 S B(8)
9 05 0B+ @®8IMEH 1253 540 OH2I(8) |@ 2LAER 1270 540 25(7) |@ 2AIZKOI  1:48.7 530 AT |@ 6ELSA  1:188 560 23(10)
1306282 5 25 463 136-414-150/3C309-4C505 [138-398-136/3C320-4C519 [143-393-133/3C261-4C462 [142-397—142/3C2584C 447
1306222571014 T 2312131 [ 1002 2 2(6/10)444+22751292 | 2003 4 1(18)442-62722832 | 6007 7 7(78)448+7T 21451582 | 4 00 4 4 3(2112) 441-6 24751152
130610% S RS 2403 |F26) F20 F20 20

130623 =5 1400 5R 0+5{8%

130601 =35 1400 6R O}2f11%

130427 =351400 5R O} 3{11%

130330 =5 1300 8R 0+5f4%

10 O AF & & A UN R " " : 130330
- M 1314 530 OIR(1) | D 8=2AIR 1:305 530 MH(2) | 9 EH 1207 540 ZE(1) | 4 HA2| 1242 560 EF(2)
4KI(09.0409) Bt S 2N £ 818345 (155%) /113:745 @woat'o‘ 1:316 530 21(4) (@ 122 1306 530 H23) @ 1BHAS 1315 530 2(10)|@ 8x3l 1:243 530 #8i(1)
() 0101 K1 0] QEI 2H(2) 4 A M 01 & T 3 &0 15 ( 0/0/0) ®6HSAIZ 1317 530 NIZ(2) |® 7Z21011 1:30.9 530 EAE(4) [@14IEXZE 1:315 570 WE(5) |® 9OMCSI| 1244 540 LT (5)
SAH14T(1/1/0/0/3) /2812082 [AS:2UR6E) @ 5210ITHEF 1317 560 =5(3) |@ 3010171 1:310 520 521(9) |@1BBLITA 1317 560 A3(2) |@ 5=22IX 1247 550 S2(3)
DESES 620/19: 6208 DFEAHAMATLEER  |© 30IAMLA 1:324 560 EIE(8) |®100IE 1312 560 Z&(8) [®11 ISl 1321 530 LA(8) [® 201 A LA 1247 560 =5 (4)
=™ 53 /52928 2x28:63 912(F) ® 8HRE 1327 560 A2(7) |® 9ALIS 1317 540 Q1A(1) |® 7oHHIXI  1:32.1 540 RE(11)|® 7E2H012  1:24.9 540 A(9)
AT GIAN4EO213D8N2 £ 08l 087 ® 45|Ht2 1:33.4 540 0/34(10)| @ 50IALLAL 1:31.9 560 FT(5) | @ BOIALYAL 1:33.7 560 £=S(6) |D10=2 A2 1250 560 X7(8)
212 28000 & & (2 0) 1307172 S 71014 T 23235 146 -410-140 /3C385-4C581 [139-412—144/3C376-4C573 |140—434—156/3C374—4C571 |136—411—144/3C308—4C503
81 2121 21 D121 6(121208,550,19%)| 130623 %45 H 2 & 1 A 3] 70056 6(510)448+3=1791002 | 4 004 4 7(9/10)445-1= 1151072 | 3 0 055 9(13/14) 446+0'=2409115:2| 3 0 0 3 3 3(512) 446+1 =243 1692

B S Rl E 21231 2&(1/0/0) | 130601 R S AH 3] 20 F26 @ 26

12 9 a of 0k ] (Eh 52030 130707 251400 1R OF2H10% 130601 51200 4R OFRH11% 130504 =15 1400 6R D} 819% 130407 =36 1300 5R O12t18%

@ 1HIIGHS 1305 540 0134(2) | 2HI=OlY 1:16.8 550 HR(3) | D 1CHR 1:312 540 Z8H(1) | 2820 1:253 520 H2(2)
4HI(09.0530) B+ & =M SAHATE(56%) /1H:165 @&%wl 1:30.8 500 BHH(7) |@ 4R1EI22 1471 520 2A(7) |@ 9HERIS 1315 540 012(2) @ 4BIE2 1253 540 (1)
(BINLRESI2I0D) M TS 3 S0 17( 0/0/0) ® 6t 1312 570 EH(5) [@ 8IHE 1173 540 JI2(8) |® 8OME3l 1315 540 ==(4) [® 82010171 1257 520 &21(9)
SAH19T(1/0/2/4/1)/35406F 2 [ 2 ST B (46E) @ 8It0i = é 1:312 550 Q1A(1) |@ 6EHRIO 1475 540 TH(5) [@105KEI01 1317 510 52I(7) |@ 9or® T 1263 560 HE(7)
2E2FA 700/ 590 DIEREHF/MATERR [® 28525 1320 510 #5(6) [® 5012122 1176 540 B5(1) [® 2ANES 1322 560 SB(6) [® 1SE2A 1266 560 51=(4)
=/ 35 /522939 2x52:63 %52(F) ® 72210 1:322 550 S2(3) |® 3L EIF 1:17.7 560 EAE(2) [® 7AFEOl 1:325 560 HE(11)|® 7TE/ZHCS 1266 540 H2(6)
DLHER: G912 O3M4DIN2 £ 08l 087 @ 3CIBIJIS 1326 570 2 8H4) |@ 72I2HIAL 1:180 540 QIR(4) |@11B2ISTH 1:325 550 T4(8) |@ BRAE 1268 560 A&8(3)
2 OF24: XF IR AHOR ) 1307072571014 T 231 =135 [143-408 - 143 / 30 383-4C58.1 |144—397—142/3C259—-4C440 |141—-404—144/3C384—-4C578 |137-401-141/3C322-4C519
81 2 2121 21 D:125.3(130407,520,18%)| 13061661 = AF X OF 0} 213 7007 55(60)438+7=204862 | 80087 5(40)431-32391782 | 50055 3(4/1)434+7=291082 | 1003 3 2(1/11)427-3=71 1042

Sl HEl 1259 3F(1/0/0)  |121114 DM =33l F2@ F26 F2® F20
C 130622 =6 1000 4R OFS47% 130525 =6 1000 3R DF2t5% 130510 2R =HAAL1000 52
12 HAXYHE 017121 € sa+10 @I2HAXIA 1034 530 JIBI(1) | D 4AZAE  1:02.0 540 OIR(1) |DIODIAEIZ 1:049 560 M
3H1(10.0318) BH= o M SAH10TS(41% 1E:98 @ 9PAEZ 1037 490 SHE(4) |@12002 KBl 1:03.4 530 J13I(3) |@ 225t 1:049 530 QI
(2)0H2A X TH A R) 5Ol 2 = SOk 28(1/1/0) @ 1Z3IEE  1:039 530 0|R(3) |@ 2= 1034 530 2A(2) @ AMAXIA 1054 530 I3
£ 4F:2(1/1/0/0/0) 22800 & LS HEol 278 @ 22 FAILL 1:04.1 540 Q1H(2) |@1IORIBE 1040 540 S2H(10)|@ 522 1054 530 A=
2ERFES 580/18:  580F O ES /MATI2ARSE  |®8HEEY 1043 530 25(6) [® 3KZM  1:040 540 A (8) |® THHEA  1:057 530+1 7l
=7 55 /52919 F&24:103 1862(713]) ®102 3l 1:04.7 530 22(10)|® 5231ZZ  1:04.1 530 01F(5) [® 6L 2E0} 1059 540 =&
DHESR; £ 08l 087 D7BEEY 1047 530 S2(8) |@ 82Ol 1:042 530 OHHI(4) | @ BRISHIF 1066 540 Al
2124 XFOFA AR ) 1307152 S 0101 & 1| 231263 [139-382-133 /3C 139—-4C 313 |137-382-130/3C137-4C313 |143-394—140/3C 143 -4C 320

CEFEENPIEE 1305205+ & R X2 BH M KHEI53]| 30 03 2 1(112)472-7=46164F | 20023 3(2/11)479-346104F | 4 00 4 3 2(38) 482KG
HLHeIBR W EGS 13051310 £ 4123 F2@ Z20®
Mg 133 [2013.07.27] =20t S3E NN Bt=Al OS2 E&6HAIJ| HHELICH




